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g-sat-constraints(k;A;y)

=aer (lyll = k)
cA (VaeA.
let F,r,G = ain
lf(T =0 0)
then g-linear(k;j.F[]70;y) = g-linear(k;j.G[j]70;y)
lf(T =0 1)

then g-linear(k;j.F[j]70;y) < q-linear(k;j.G[4]?0;y)
else g-linear(k;j.F[§]70;y) < g-linear(k;j.G[j]?0;y)
fi)

clarification:
g-sat-constraints(k;A;y)

=aet (lyll =k € Z)
cA lall(A;:(Q List)

x (:Z

x (Q List));a.let F,r,G = a in
lf(’l’ =0 0)
then g-linear(k;j.F[§]70;y) = q-linear(k;j.G[4]70;y) € Q
lf(T =0 1)

then g-linear(k;j.F[j]70;y) < g-linear(k;;j.G[j]?0;y)
else g-linear(k;j.F[7]70;y) < q-linear(k;j.G[j]70;y)
fi)
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